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— + Multiple-Choice Questions (¥ % %, 2% for each) :

1. Tissues are composed of cells, and tissues functioning together make up

(A) organs.

(B) membranes.

(C) organ systems.

(D) organelles.

(E) organisms.

2. Hormones that are secreted by the posterior pituitary gland are made in the

{A) cerebrum.

(B) cerebellum.

(C) thalamus.

(D) hypothalamus.

(E) medulla oblongata.

3, Many marine and freshwater bony fish achieve osmoregulation via

(A) loss of water through the gills.

(B) gain of salt through the gills.

(C) loss of water in the urine.

(D) no drinking of water.

(E) gain of water through food.

4. The thin horizontal arrows in the Figure 1 show that
(A) the warmer arterial blood can
bypass the flippers as needed,

when the flippers are too cold to of dolphin but docs not

extend into flipper.
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function well.
(B) the warmer venous blood

transfers heat to the cooler
arterial blood.
(C) the warmer arterial blood

Body= 37°C Seawater= 14°C

Flipper

transfers heat to the cooler Blood vesscl .
Cool returning
venous blood. bload flow
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(D) the arterial blood is always ! In cach of many blood |
cooler in the abdomen, compared vessels, heal flows from 1
i warm incoming blood to
to the temperature of the venous Warm incoming cool returning blood due
. ) blood flow i to conduction (Hg) and |
blood in the flipper of the { convection {H..). i
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dolphin.
(E) the dolphin's flippers get
progressively warmer as the blood moves away from the abdomen to the feet. Figure 1
(51 H &3 H]



5. The effect shows in Figure 1 is - (CGEFERE > sy B

6. Innate immunity
{A) is activated immediately upon infection.
(B) depends on a newly infected animal's previous exposure to the same pathogen.
(C) is based on recognition of antigens that are specific to different pathogens.
(D) is found only in vertebrate animals.
(E) utilizes highly specific antigen receptors on B cells.

7. The steroid hormone that coordinates molting in arthropods (B &) is
(A) ecdysone.
(B) glucagon.
(C) thyroxine.
(D) oxytocin.
(E) growth hormone.

8. Sexual reproduction patterns include the example of
(A) fragmentation.
-(B) budding.
(C) hermaphroditism.
(D) parthenogenesis.
(E) fission.

For the following 2 questions, refer to the graph of a muscle.
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9. The structure pictured in the figure is found in
(A) skeletal muscles and smooth muscles.
(B) cardiac muscles and skeletal muscles.
(C) smooth muscles and cardiac muscles.
(D) smooth muscles, skeletal muscles, and cardiac muscles.

(E) smooth muscles.
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10. Overlapping actin and myosin filaments are found in which section of the figure?
(A) A
(B) B.
O C
(D) D.
(E)E.

—~BELSH
1. Buffer (4%}
2. Enanthiomers (4%)
3. Chaperonins (4%)
4. Lysosome {4%)

5. The endosymbiont theory of the origin of mitochondria and chloroplast in eukaryotic
cells (4%}
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75 ~ Compare the following pairs of terms:
a. Virus and viroid (4%)
b. Northern and Southern blotting (4%)
c. Exotoxin and endotoxin (4%)
d. Flagellum and cilium (4%)
e. A vyeast cell and a mycelium of fungi (4%)
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1. Please compare the prokaryotic cell and eukaryotic cell.

2. Please describe how, in multicellular organisms, cells communicate with each other.
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